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for the questions
1. Choose the correct answer/ Answer the
following : - 1x8=8

. ) o ;
a) Macroeconomics 18 a »study o
“ that deals with four major

economics

factors namely o
) (i) households, firms, government
( ~ and demand and supply

(ii) households, firms, goverf‘lf:“‘mt

and external sector
qum Over)
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(i) firms
» g0vernment, free market
and regilation °

(i) None of the above

abroa?i'g}.DP = Net income fro™
{ilji) gggaZNNP + Net income £rom
) Sfl::'za?i _‘-__Net income from

~

( 3)

Result of cheap monetary’ ‘policy
introduced by monetary authority -
during the period of depression is

(d)

() inflation
(ii) deflation ;
- (i) liquidity trap

(iv) None of the above

() MPC =
0
(@) %'g
(iii) 'g‘ '
) 57

( furn Over)
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(4) (5)

{f): The slope of the LM curve depend :?'E' (d) Economic openness in Indian -

. o-uapon
.o ' economy

() income elasticity of demand for ' %\ (e) Devaluation

money ,
(i) interest elastici | Answer the following questions: (within
Mmoney city of demand for . | 500 words each) : |
i) b ious methods of
() e{;t;lti . come  and  jnterest 8. What are the veriou® methExplau'm
Gty of demand for money measuring national income? X ble
(iv) No which of these methods is more smtaf
7€ of the above ' for Indian economy. Give two ;easonfozg=12
(g) What \ your answer. |
at do you mean by globalization? | f\A or |
(h) Why ig Money eayy | Explain the meaning with exampleo.f ;1:‘;:12
°d liquid asset? following concepts :
2. ;N;ite short nogey _ ‘ (a) GNP
ollowin N an ‘
: g (within 150 y four of the . (b) NNP
7 Words each) : 6 ) .
(@ Circular oy, 4x4=1 (c) Disposable incom
of nats : i e
y < E
(b) Effecti and its’
Ve demang ( 4. (@) Explain Sey's law of marke’ 11
(c) Relative incon, : | implications-
e ! .
P7/50 YPothesis . (Jurn Over)
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o)

5. (@)

(b)

6. (q)

(b)

P7/50g

(6)

Or

Discuss the classica] theory O:
output and employment in thf
context of the Great Depression 0

1930s. What were the main reasoni=1l
for its collapse? T+ |
Explain  the process of income
generation

through the investment
multiplier ;g example. Does
multiplier work jn the developing

economy like Ingjqp Give reasons for ~11
your answer, 8+3%

<~

life cycle hypothesis.
What are jig Similarities with the 1
Permanent incop, hypothesis? 7+4=1
Discusg

e
classical an
interest,

determination of
€Yynesian theory of 11
\
Or

What are 15,

evel of income in
amework 11

( Continued)

M._Curves? Determine W
Quilibriyp, 1 oLe |

¥75000+1000/506

(7)

BoP)?
7. (a) What is balance of payments (
- (a

ing rule.
Discuss the basic accounting 7+4=11

Or

age 'um
disequilibrt
ou mear ]?Y ew_ry
(b) What dOBicf) p? Explain the ?:;cit in
in the to eliminate the 3+8=11
the BoP in an economy:
e
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